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Formula1 (page 7 in the PDF file):
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Alternate tag = 

A composite estimation equals to a weighted average of synthetic estimate plus a weighted average of direct estimate

Formula2 (page 7 in the PDF file):
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Alternate tag = 

W equals (variance of state estimate minus co-variance of synthetic estimate and state estimate) divides by (variance of state estimate plus variance of synthetic estimate minus two times co-variance of synthetic estimate and state estimate plus squared value of bias)

Formula3 (page 7 in the PDF file):
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Alternate tag = 

The squared value of bias equals to the square of expected value of state estimate minus expected value of synthetic estimate

Formula4 (page 8 in the PDF file):
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Alternate tag = 
The variance of composite estimation equals squared value of weight times variance of synthetic estimate plus squared value of one minus weight times variance of state estimate minus two times eight times one minus weight times co-variance of synthetic estimate and state estimate

Formula5 (page 8 in the PDF file):
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Alternate tag = 
The Mean Squared Error (MSE) of composite estimation equals squared value of weight times variance of synthetic estimate plus squared value of one minus weight times variance of state estimate plus two times weight times one minus weight times co-variance of synthetic estimate and state estimate then plus squared value of weight times squared value of bias

Formula6 (page 8 in the PDF file):
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Alternate tag = 
The expected squared value of synthetic estimate minus state estimate equals to the variance of synthetic estimate and state estimate then plus squared bias

Formula7 (page 8 in the PDF file):
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Alternate tag = 
The expected squared value of the ith half sample of synthetic estimate minus the ith half sample of state estimate equals to two times the variance of synthetic estimate and state estimate then plus squared bias

